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PHILOSOPHY (General)

Full Marks : 50

Paper Code : II-A
[New Syllabus]

Time : One Hour

Subject Code :

Subject Name :

111
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B

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.

Page : 1 of 34



Ti52ie1 5T &tsia (MCQ) &+ SEa! et
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1. — A
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Paper Code : II-A

Full Marks : 50 Time "

Choose the correct answer.
Each question carries 1 mark.
1. Invalid knowledge is called —
(A) Paramarsa
(B) Prameya
(C) Aprama

(D) Pramana

S| Iy WS ol T —
(A)
(B) G
(C) =
(D) @i

2. Who is the founder of Samkhya Philosophy —

(A) Mahavira
(B) Gautama
(C) Kapil

(D) Kanad

One Hour
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2| ARY W efsorel e
A) T
(B) CTrew
(C) e
(D) i
3. Satva, Raja and Tama are attributed to —
(A) Purusa
(B) Prakriti
(C) Brahma
(D) God
©| g, 753 8 Oz [FeE ofS wicifre =1e
(A) 7F
®) ugfe
(C) &=
D) 74 -

4. What must be the case for an argument to succeed with a rational person ?
(A) The premises must be acceptable
(B) The conclusion must be acceptable
(C) The premises must logically support conclusion
(D) ‘A’ and ‘C’ both
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8 | Nfele cwauler Sy @R e @O T S AREHE —
(A) SRR SHE SR 20 (
(B) Fialg SmIZ aZdClsy 7
(C) wi=rRRImefel (A Paw Ffemproeia Foge 2@
D) ‘A @R ‘C’ Tex3

5. The argument “All men are mortal, Socrates is a man, therefore Socrates is
mortal” is —

(A) Inductively strong
(B) Deductively cogent
(C) Deductively valid
(D) Inductively true

€| IR AR T TR, HCFOH T WeF, 04, ACEFO g el — @
et —

(A) T wicER I
B) T SRR e
(C) ¥ S[R3
(D) 7 @R I

Page : 5 of 34



6. Vyapti can be properly defined as —
(A) invariable concomitance
(B) causal relation
(C) sequence

(D) occasional relation

v | iR ALY A& T —
(A) SR et
(B) IR F=F
(C) A=Al
(D) WIS A=iE
7. According to Nyaya, nirvikalpa pratyaksa presents —
(A) bare objects without any characterization
(B) objects with its characteristics

(C) only characteristics, not objects

(D) analysis of the attributes of object
q| rENCS [T AoFF e @RIF —

A) FRem <

B) Reifie =

(C) @iy e, 7@ I

(D) I|F e [esEd
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8. How many padarthas are accepted by Vaisesikas ?
(A) 2 (two)

(B) 7 (Seven)
(C) 4 (Four)

(D) 6 (Six)
b | iR vl A simld [ @ —
A) 2
B) e
(C) v
O =
9. According to Nyaya “Ice looks cold” is an example of —
(A) Samanyalaksana pratyaksa
(B) Yogajalaksana Pratyaksa
(C) Paramarsa
(D) None of the above
b1 TEE (A0S del’ — T W P 92 I KR Srigad —
(A) AN TF Ao
(B) o T eferF
(C) o
(D) AT
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10. Samkhya Satkaryavada is also known as —
(A) Prakrti-Parinamvada
(B) Vivartavada
(C) Arambhavada

(D) Brahma-Parinamvada

S0 | ARY AP @ AcNe Sfow 78 —
(A) &S sAfetrmm
B) RS
(©) Tsv
(D) FF-IfReARIT

11. Which of the following is true about Purusa ?
(A) Pure and transcendental consciousness
(B) Ultimate knower
(C) Pure subject
(D) All the above

>y | el @RT ozFa T qd —
(A) Rum =eifym e
B) 7 @l
(C) Rum e
(D) CoEa FRaf
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12. Samkhya believes in —
(A) theism
(B) atheism
(C) polytheism
(D) monotheism
S| FARY W (P gl R —
(A) FM
(B) =
(C) = M
D) arFesim
13. Who propounded the concept of existential import ?
(A) 1. M. Copi
(B) Carveth Reid
(C) George Boole
(D) John Venn

50 | ARGLETS Ol AN (F ATS el 2

(A) =2, @, if
(B) Fice {w

(C) &% &
D) & (e
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14. Each part of a truth functional proposition is called —
(A) Condition
(B) Component
(C) Conclusion

(D) Content

58 | Ao /e UG St el —
(A) =%
B) ©Arwl
(©) Fraig
(D) ¥ few
15. Which of the following is a political ideal ?
(A) courage
(B) wisdom
(C) fraternity
(D) kindness

se| FRfefie @Rt Atetafes sl
(A) A
(B) I
(C€) arge
(D) R/l
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16. s the basic unit in all societies.
(A) Community
(B) Family
(C) Group
(D) Institution
Sol __ INICER (e @35 |
(A) 2R
(B) A=
(C) carsY
D) dfewi
17. Membership in a caste in the society is obtained —
(A) by birth
(B) by socialization
(C) by giving money
(D) by membership in an association
59| T (P i A Zee —
(A) TGOS 4
(B) AMITERFCela Teges et [
(C) =T
(D) ST (P ARSI AP e el
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18. Socialism —
(A) favoured private property
(B) were against private property
(C) favoured individual controlled property

(D) regards private property as a solution of all problem

S| FANIErey —
(A) Tfesre Tife e I
B) Ifeae Fifex REAe @
(©) If& ReiF a=t WafEe Tife
(D) IS TGP F PP ANLN N I
19. Who is the supporter'of Scientific Socialism ?
(A) Plato
(B) Thomas More
(C) Marx
(D) Lenin
s» | Fefaite wifiems o & e Teregs Twde —
(A) CHB
(B) TP (IS
(C) =il
(D) cfeet
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20. Democracy is the Government of the people, by the people, for the people
who made this statement ?

(A) Atristotle
(B) Lincon
(C) Saint Simon

(D) Carlyle

R0 | TG CE AR T Gwaicdd /il ARIeTe el WeeEE — @2
Tt a2

(A) SHIfGoa
(B) o
(C) @6 Pre
(D) Fisfigat

21. In which of the following proposition both the subject and predicate terms are
distributed ?

(A) some glitters are not gold
(B) no glitters are gold

(C) some glitters are gold
(D) all the glitters are gold
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25 | Wesie @ 3541 S @ Reaw Sox o3 gisy —
(A) @F IR 5 € T G
(B) (FH BIBTF IF T Al
(C) PN P 5CEF IE T Gl
(D) >} 50T & = Il

22. In which of the following syllogistic forms involves the fallacy of undistributed
middle ?

(A) AAA in third figure
(B) EIO in first figure
(C) IAA in third figure
(D) AAA in second figure
| fEleie wicE SRR g @GS S[e (XemiE e —
(A) AAA — PO HKZH
(B) EIO — ¥ 7
(C) TAA — PSR FRZH
(D) AAA — T@Siw I

23. Which of the following can be symbolised by ~ (A -S) ?

(A) Sathi and Shyam will not be the teacher

(B) Sathi and Shyam will not both be the teacher

(C) It is not the case that either Sathi or Shyam will be the teacher
(D) Neither Sathi nor Shyam will be the teacher

Page : 14 of 34



20| ~(A-S) 9t FsFiRe @i Awha 2SiRe wot —
(A) A ¢ =GN s 7@
B) A ¢ =T TR Fwe @
(C) @ 7 (T T AA WA =i Frs 2
(D) = A 71 77 =¥ s 701

24. The figure of a syllogism is determined by the position of the —
(A) major term
(B) minor term
(C) middle term
(D) copula

8 | P WA I G WieE w7y [ zm —
(A) G v
B) %% M
©) RY M
D) RS
25. Which one of the following statements is correct ?
(A) A conjunctive statement is true if both of its conjuncts are true

(B) A disjunctive statements is true if both the disjuncts are false

(C) A conditional statement is false if the antecedent and consequent are
true

(D) The truth value of a proposition is same with its negation
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e Fess o e wfise
(A) 16 AN Ay 20 FRCAMNF 07 G ZCA |
B) 4o s W 2ot Caleis <641 797 T |
(C) T =fzof '8 sl 3oy = OIREA AT b1 BT 2|
(D) G I/ HORED € FEed BT T[T GF A |
26. Which type of change in gunas causes the starting of evolution —
(A) Heterogeneously
(B) Homogeneously
(C) Harmoniously
D) Sarupa-parinam
Q| waalE Wy [ wiel AReT R$er ot @ —
(A) R 2z
(B) FEISR IfFTE
(C) 93w ~ARRE
(D) F=el AR
27. Which of the following is a component of Pararthanumana —
(A) Avidya
(B) Paramarsa
(C) Upanaya
(D) Vedana
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1| eiReslkm s @b AxeiTiem ok Rom —
(A) wfm!
B) e
(C) Ty
D)

28. According to Vaisesika school, the Universal ‘Cowhood’ is —
(A) eternal, one and residing in many
(B) non-eternal, one and residing in many
(C) non-eternal and many

(D) eternal and many

| QIR TR TP AN &4 oy o7 —
(A) S, 9F QR I T IS
(B) ST, IF @R I T IS
(C) SMMe @} <2
(D) =Irds @R 37

29. What is the relation between two propositions if one is the negation of the
other i.e. they cannot both be true or both be false —

(A) Contrary

(B) Sub-Contrary
(C) Sub-alternate
(D) Contradictory
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5 | M G B 2 G0 I LS 27, IR0 Ot W& F 704 383w
e wiefie T I571 120 W2 T A S @R A W TS A AN —

(A) Redre

B) =& R[=ie
(C) =PI

D) &=

30. An inductive argument is intended to provide —
(A) valid support for its conclusion
(B) probable support for its conclusion
(C) invalid support for its conclusion

(D) probable ;support for its premises

vo | Gl IR Y& & enl Fa0o bR 2
ENREACEREES)
B) Fraices T8yl
(C) Frae witawel
(D) SRR TSRre!
31. Culture is usually assumed to be —
(A) fixed and static
(B) always changing
(C) mutually exclusive

(D) a subjective entity
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05 | AYRASE T Pl = A Zo —
(A) 7T @ fpoet
(B) Ml A&
(C) A= oz
(D) Iy R
32. Which of the following is not identified as a defining feature of culture —
(A) culture is shared
(B) culture is transmitted
(C) culture is symbolic
(D) culture is learned

o3| FERFiRe @Rt gl WY @ s = S —
(A) 3Fs S*etaictal
(B) kFo BRI
(C) F e el
(D) wicghe Frifers
33. What are the two basis of community ?
(A) moral and political consciousness
(B) locality and community sentiment
(C) we-feeling and role-feeling

(D) group awareness and community awareness
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vo | WM 4t fefe & 52
(A) ¢fSF @ ATAST (o
(B) T 8 HEMRNS VSR
(C) SIEI-RIY @3 BhRA-CIIY
(D) D (B! @ H2THANS (5ol
34. To stand in a queue in a ticket counter of a station is a —
(A) gesture
(B) rule

(C) custom

(D) culture

©8 | B s FIF AR HCIe @ —
(A) w5
B) fas
(C) @
(D) FS
35. The phrase ‘Cultural lag’ was first coined by —
(A) Maclver
B) Gisbert
(C) Tylor
(D) Ogburn
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oe | Fghon ERAlifer =wfa & oS e e
(A) I SRR
(B) B foiai
(C) BiZer
(D) oIl
36. Who thinks that ‘Sarbodaya’ is the goal of changing the society ?
(A) Binoba Vabe
(B) Swami Vivekananda
(C) Mahatma Gandhi
(D) Sri Aurobinda

0V | FAEH ARETATOR 15 I AV (F N PO 2
A) Rl eI
B) =N Rz
(C) SISl
(D) A =W

37. In direct democracy who can take active part in the government ?
(A) elected representatives
(B) all people of the country
(C) only educated people
(D) only honest people
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04 | AP STOCF (F AfEH SeHlae FACS A2
() FEibe efsff
(B) (TR et W@
(C) @<emig fifre S
(D) FIEHIG 7R AT

38. In the statement ‘Milk is white’ the relation between milk and white, according
to Vaisesika, is a case of —

(A) Samyoga
(B) Svarupa
(C) Tadatmya

(D) Samavaya

oy | AeIRE W TCO qY T MY — @2 AW 7Y € AW 0T T e
(A) e
(B) T
(C) ©mI%s
(D) R

39. Which of the following is truth functional proposition —
(A) If logic is not an art then logic is a science
(B) I believe that logic as a difficult science
(C) Necessarily logic is the science of reasoning

(D) All the above
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o5 | [NfeiRe @ /0 Ao aoe 2
(A) I SR 9FT T T SR IR @b [
B) =If¥ e S oS 93 Flom Rieel
(C) WRMFeId wHiwl e iaw Reaw
(D) €237 31

40. Samkhya believes that the evolution of the world has its starting point in the
contact between —

(A) Self and infinite material

(B) Purusa and Prakiti
(C) Finite material and infinite material

(D) Prakrti, Purusa and self
8o | kY e Rewa s i & & e wo1 —
(A) I 8 SN IE

B) 477 ¢ aFfe
(C) 7A@ TN I

(D) agfs, o7 ¢ s
41. Which of the following is not a kind of perception in Nyaya-Vaisesika ?

(A) Laukika and alauikika
(B) Savikalpaka and nirvikalpaka

(C) Samanyalaksana and Jnanalaksana

(D) Vahya and antara
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83 | Itbd (PG T ([TIRT W ererw x e
A) ERT @R ST
B) =S ¢ iR
(C) A =7% @ @i T
(D) 3Zy ¢ ="

42. Which of the following propositions is tautology —
@) (pva)oq
B) pv(¢4>p)
© pv(r>49)
(D) both ‘B’ and ‘C’
83 | b WASHT N&y (TG T0eTe ?
@) (pva)>q
®) pv(¢4>p)

© pv(p>9)

(D) both ‘B’ and ‘C’
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43. In propositional logic, which of the following is equivalent to p > ¢q ?

-

A) ~pogq
B ~prvyq
©€) ~pv~q
D) pogq
8o | Jvfe SHRWI PR FsfiRe @b pog @3 AN —
(A) ~p>gq
®B) ~pvyg
€) ~pVv~q
D) pogq

44. The reasoning that uses general principle to predict specific result is called —
(A) inductive
(B) deductive
(C) both ‘A’ and ‘B’
(D) hypothesis
88| (I 2T Y& R Praicg Toife za &=y Age [aw dens e
(A) ST
(B) SRER
(C) ‘A’ 8 ‘B’ Texg
(D) e<st
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45. The defining feature of a valid deduction is its —
(A) vagueness
(B) indefiniteness
(C) certainty

(D) narrowness

8¢ | (34 SRAZ SRIE UL A 2o @g —
(A) S>igel
B) wffEel
(C) Fozrel
(D) Flef!
46. What is enough to prove the inductive conclusion false ?
(A) intuition
(B) assumption
(C) concept
(D) counter example
8| I SR Fferx Frmiacs Nyt el a9 ooy [ooa (i Rl weese
(A) Tl
(B) =t
(C) =oin
(D) «fs Twrzze
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47. The sum total of the objects to which the term can be applied is its —
(A) connotation (
(B) denotation
(C) meaning
(D) function
84| POl Raem wRw df e =@ aisisye
(A) srene
B) Ield
(C) ue
D) e

48. “Law is the body of rules which are recognised, interpreted and applied to
particular situation by the court of the state” — who gives this definition ?

(A) Kant
(B) Weber
(C) Maclver and Page
(D) Green
8b | SIIZ 2@ AIEH SIMIeTS il o, i @ Roo o effe aigarey Fouh
R il — g el @ e
(A) I
(B) SN
(©) I HWESH € (o
D) I
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49. When the we-feeling becomes excessive, it results in —
(A) cultural relativism
(B) ethnocentrism
(C) cultural lag

(D) mental strain

85 | SINHI-(AIY I S T w7 AR 7o —
(A) HFhooT© oW
B) T Il
(C) weghen szalifirel
(D) AERE bist

50. How many qualities are accepted by Kanada ?
(A) seven
(B) sixteen
(C) seventeen

(D) twentyfour

o | I 0 @ FPEH I —
(A) ArS
(B) e
(C) et
(D) ofk
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P-II (1+1+1) G/20 (N)

2020
PHILOSOPHY (General)
Paper : II-B

[New Syllabus]

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Answer eleven questions of 5 marks taking
not more than four from each group.

Section - I

1. Answer any one from the following : 15x1=15

(@) Explain the Samkhya theory of evolution. 15

(b) Explain the nature of Vaisesika category of Samavaya . How does
Samkara critcise it. 10+5

(c) Distinguish between nirvikalpaka and savikalpaka Pratyaksa. What is the

evidence of admitting the nirvikalpaka pratyaksa ? 10+5

2. Answer not more than four from the following : 5x4=20

(a) Write a note on Samanya-Laksana pratyaksa.

(b) Explain the nature of Prakriti.

(c) Explain the different forms of Abhava.
(d) What is five-membered syllogism ? Explain with example.

(¢) What is Purusa in Samkhya philosophy ? How is the plurality of
purusa proved ? 2+3

(D Discuss Samkhya ‘Parinamvada’.
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(g) Explain briefly the nature of the category of Samanya as admitted by
the Vaisesikas. ’

(h) How does the Samkhya refute asatkaryavada ?

Section - 11

3. Answer any one of the following : 15x1=15

(@) Use truth table to determine the validity or invalidity of the following
arguments/argument form : 5x3=15

@ Us(Vvw)
(V-w)o~U/.~U

@ (pva)>(p-q)
(pva)/-pa

(i) p=>(g9>r)

q/-.rop

(b) What are the different criteria for appraisal of analogical argument ?
Discuss. 15

(c) Test the validity of the following arguments by means of Venn diagram :
5x3=15

@) All-3
@) EAO -4

(i) As you are not a graduate, you are not eligible for the post.
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4. Answer not more than four from the following : 5x4=20)
(a) What is existential import ? Give an example. Y‘
(b) Distinguish between deductive and inductive argument.
(c) What are the rules of obversion ?
(d) What is hypothetical syllogism ? Explain.
(¢) What is material implication ? Explain with example.
() What are the different orders of ‘enthymeme’ in syllogistic arguments ?
(g) What are the two senses of ‘or’ ?
(h) Explain the fallacy of illicit minor.
Section - III

5. Answer any one of the following : 15x1=15
(a) State and explain the main features of Caste system. 15

(b) What is Democracy ? What are the characteristics of democratic ideals
? 3+12

(c) What is “trusteeship’ ? Explain its implication after Gandhiji. 5+10

6. Answer not more than four questions from the following : 5x4=20)
(@) What is equality ? Explain.
(b) Write a note on social class.
(¢) How community differ from association ?
(d) Write a note on Moral Code.
(¢) Explain and examine liberal democracy.
(D Explain the relation between liberty and law.
(8 “Society is the Web of social relationship” — Explain briefly.

(h) What are the defects of socialism ?
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QMR v THEw Ten e 2@, e @ Rl
(A2 oA @ AT Ten (el AR A |

e -3

s | fafiie amelm @ @W 93ba Tex nie - SExd=3¢
() ARG RISTM ST 3411 Se

(%) WeIRSwE SR e oMt Fmel DI | T TR Amiedd
I oI ST 2 So+¢

(o) R ¢ AR Aoewa W SNdw [ 91 [ o
FPIER FACF I 2 so+e

Y| S BIEAD At Ted WIS €x8=30
(F) AN =% o R B2 @i Bidl (12| @

(¥) Pplen el Ay 34| @

(o) el Rien el i 341 ¢

() A T PP A2 GARAPTE, A | ¢

() ARYTIE ST P2 7T 29 Fe emifde 27| L+

(5) YT AR S 34| ¢

(®) IR e ANy AT et oA i 91 @

(&) YA TP FOIT AT SR AL DA 9 | @
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Reta -2

o | e amelm @ @ 97 Teg wie : SEXD=D¢
@) fosa @ /3fen weeln semada MR [arel/stagel FoR
Fd: EXO=Y(¢

Q) Uos(Vvw)
(V-wW)o~U/:..~U

@ (pva)>(p-q)
(pva)/-.p-q

(i) p>(g>r)

q/:.rop
(¥) CoRl &R FEORER Mol Swiger i 99| se
(o) FHfeie Ifeafm el cerforam wmt Rlw <1 ExO=3¢
() AIL-3
(i) EAO -4
(i) AR P Wow e, ©iF Wi ¥ wma @isy 78|
8 | SHiEP BIAfb et Teq wie - €x8=30
() SR CleoRh [ Grigael mis |
(}) SRER @R @R IS M AL (s |
(o) Redera FamelE & e
(F) ASHERP TR SEEH FF =2 T 39|
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(&) IS ALCAT P ET? SRIZATAZCANS T 51 |
(v) e aom i<FHre Wi Fwel & e g w91
() “S2_” oo qfo = & e gig =1

(&) WY 2P (I I I

Rttt
¢| WEEie emalem @ @iv @ ba Tex s - SExS=3¢
() wifocen AR Y27 AR St 59 N
(¥) sleg FICF a2 slelfge wwea REal & e O+SY
(o) wiReg fo e MRS PR I wfRey I A W 39|
¢+So
v | SHES BT eim Ted wie : @x8=30

() AT FCF =12 [ 4|

() AN AT T2 G Bidl @121

(51) FRMICAT A AR AL (ile |

(¥) wies R[igg ©sim @ Biel (=12

(8) CnicAfeP slofotad Wi € Roig 3

(5) FIATO! @ WEE N H5F I 37|

(®) “OIE 2al NG T~5/FF SoreeT” — A I 4|
() IerocEs (el [ e
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